Rapid Reasoning | Questions Year5 | Week 3 | Day5

m A number is made from these digits. m The difference between two numbers
is 470.
[5 ] {OJ {2] [9} [SJ {7} The larger number is double 460.
It is a multiple of 10. What is the smaller number?

The digit in the ten thousands place
is even.

It rounds up when rounded to the nearest 1mark
100,000. m Aaron has 60g of sugar.

It rounds down when rounded to the He uses % of the sugar.

nearest 1,000.

How many grams of the sugar does Aaron

>
What could the number be? Give two have left?

possible answers.

1 mark

1 mark

« THIRD SPACE LEARNING © Third Space Learning 2018. You may photocopy this page.



